Amortization Schedules and Computerized Spreadsheets 
When you start a computerized spreadsheet, you see something that looks like a table waiting to be filled in. The rows are labeled with numbers and the columns with letters, as shown in Figure 5.17. The individual boxes are called cells. The cell in column A, row 1, is called cell A1; the cell below it is called cell A2, because it is in column A, row 2.

	


A computerized spreadsheet is an ideal tool to use in creating an amortization schedule. We will illustrate this process by preparing the amortization schedule for a four-month, $175,000 loan at 7.75% interest; such a loan requires a monthly payment of $44,458.65.

Step 1 Label the columns. Use the mouse and/or the arrow buttons to move to cell A1, type in “Payment Number,” and press “return” or “enter.” Move to cell B1, type in “Principal Portion,” and press “return” or “enter.” Type the remaining amortization schedule labels in cells C1, D1, and E1. The columns’ widths can be adjusted—your instructor will tell you how.
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NOTE - To get the column labels to go to a second line, right click on the cell.  Choose "Format Cell" and then choose "Alignment."  Click on "Wrap Text."
Step 2 Fill in row 2 with payment 0 information. Move to cell A2, type in “0,” and press “return” or “enter.” Move to cell E2, type in “175000,” and press “return” or “enter.” After you complete this step, your spreadsheet should look like that in below.

	
[image: image2.png]B ¢

Payment | Principal | Interest | Total
Number | Portion | Portion | Payment | Balance
[ 0] 175000







Step 3 Fill in row 3 with instructions on how to compute payment 1 information.
· Move to cell D3 and type in “44458.65,” the total payment.
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· Column A should eventually contain the numbers 0, 1, 2, 3, and 4. Since each of these numbers is one more than the previous number, the instructions in cell A3 should say to add 1 to the contents in cell A2. To do this, type “=A2 +1” and press “return” or “enter.” Notice that these computational instructions begin with either the “=” symbol. Computational instructions are always preceded by this symbol. 
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·  You can then use the Fill commands to finish through A6.
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· Cell C3 should contain instructions on computing interest on the previous balance, using the Simple Interest Formula I= Prt.
I = P*r*t

  = (the previous balance) * (0.0775) * (1/12)

  = E2 * 0.0775/12    (computers use * for multiplication)

 Move to cell C3, type in “=E2 * .0775 / 12” and press “return” or “enter.”
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· Cell B3 should contain instructions on computing the payment’s principal portion. 

principal portion = payment - interest portion 




     = D3 - C3

Move to cell B3 and type in “=D3 - C3.”
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· Cell E3 should contain instructions on computing the new balance. 
new balance = previous balance - principal portion

                     = E2 - B3

Move to cell E3 and type in “=E2 - B3.” After you complete this step, your spreadsheet should look like that below.
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Notice that the cells in row 3 may show more or fewer decimal places than is appropriate. We will take care of this later.

Step 4 Fill in rows 4 and 5 with instructions on how to compute payment 2 and payment 3 information. Payment 2 and payment 3 computations are just like payment 1 computations, so all we have to do is copy the payment 1 instructions from row 3 and paste them into rows 4 and 5.

To copy the payment 1 instructions from row 3, do the following.

· Use your mouse to move to cell A3. Press the mouse’s button, move the mouse to the right until cells B3, C3, D3, and E3 are highlighted, move down until the same four columns are highlighted in rows 4 and 5, then let go of the button. Be careful that you do not highlight any other cells.
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· Use the mouse to move to the word “Edit” at the very top of the screen.  Choose "Fill" and then choose "Down."
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You should then see something like this.
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Note: Most amortization schedules involve more than four payments. In this case, the step 4 instructions apply to all payments other than the first and last.

Step 5 Fill in row 6 with instructions on how to compute information on the last payment.

Except for the principal portion and the total payment, the last payment computations

are just like previous payment computations, so we can do more copying and

pasting.

· Using "Fill" again, copy the instructions from cell C5 and E5 into cells C6 and E6.
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· Cell B6 should contain the principal portion of the last payment, which is equal to the previous balance. Move to cell B6, type in “=E5,” and press “return” or “enter.”

	
[image: image13.png]A

B

c

1]

E

Payment
Number

Principal
Portion

Interest
Partion

Total
Payment

Balance

175000

1352844

1130.208]

4445865

131671.5)

43608.27

50,3788

4445865

66063.29,

43689.91

568.7421

4445865

[i
1
2|
3|
4]

|=E4

[ 2852664

417338,
44173.38]





to get


[image: image14.png]A
Payment
Number

B

Principal

Portion

[
Interest
Partion

D
Total
Payment

E

Balance

175000

1352844

1130.208]

4445865

131671.5)

43608.27

50,3788

4445865

66063.29

43689.91

568.7421

4445865

44173.38

[i
1
2|
3|
4

44173.38

265.2864

[i







· Cell D6 should contain instructions on computing the last total payment.
total payment = principal portion + interest portion



 = B6 + C6

Move to cell D6 and type in “=B6 - C6.”
After you complete this step, your spreadsheet should look like this.
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Step 6 Format the contents of columns B, C, D, and E in currency style.  We have two things to "fix."
· We have some cells with too many or too few decimal places.  In the last picture above, the cells in column C have too many and cells E2 and E3 has too few.  Click on a cell to be adjusted.  Then, on the menu bar, look for the following buttons.
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The one on the left will increase the number of decimal places shown.  The one on the right will decrease the number.  When increasing, you may sometimes get a cell that suddenly contains "#######."  That just means the cell is not wide enough to contain all of the places you are trying to display.  Widen the column and you will then see the number instead.

You should now see the following.
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· Note - The process in the next step would also take care of the previous problem.  However, it is important in various settings to be able to adjust the number of decimal places showing.
· Since we are dealing with money in columns B, C, D and E, it would be nice to have a $ showing in each of the cells.  Highlight the rectangle of cells beginning with B2 and ending with E6.
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Right click on the highlighted area and choose "Format Cells."
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Now choose "Number."
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Under "Symbol" choose $.
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Press "Enter" and you should see the following.
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Finding the Total Interest Paid Once an amortization schedule is prepared, it is a simple matter to find the total interest paid—just find the sum of the interest portions of the appropriate payments. In the example illustrated above, the total interest paid is the sum of cells C3 through C6. To find this quantity, go to cell C7 (or any other empty cell), type “= sum(C3:C6)” and press “return” or “enter.”
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which will give
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